                         大学英语B1-4及优秀运动员重修辅导材料

Part One. Reading Comprehension 
Directions: Read the following 4 Passages. Answer the questions on each text by choosing A, B, C or D. Mark your answers on the ANSWER SHEET by drawing a thick line across the corresponding letter in the brackets.

Passage One


The establishment of the Third Reich influenced events in American history by starting a chain of events which culminated in war between Germany and the United States. The compete destruction of democracy, the persecution of Jews, the war on religion, the cruelty and barbarism of the Nazis, and especially the plans of Germany and her allies, Italy and Japan, for world conquest caused great indignation in this country and brought on fear of another world war. While speaking out against Hitler’s atrocities, the American people generally favored isolationist policies and neutrality. The Neutrality Acts of 1935 and 1936 prohibited trade with any belligerents or loans to them. In 1937 the President was empowered to declare an arms embargo in wars between nations at his discretion.


American opinion began to change somewhat after President Roosevelt’s “quarantine the aggressor” speech at Chicago (1937) in which he severely criticized Hitler’s policies. Germany’s seizure of Austria and the Munich Pact for the partition of Czechoslovakia (1938) also aroused the American people. The conquest of Czechoslovakia in March, 1939 was another rude awakening to the menace of the Third Reich. In August,1939 came the shock of the Nazi-soviet Pact and in September the attack on Poland and the outbreak of European war. The United States attempted to maintain neutrality in spite of sympathy for the democracies arrayed against the Third Reich. The Neutrality Act of 1939 repealed the arms embargo and permitted “cash and carry” exports of arms to belligerent nations. A strong national defense program was begun. A draft act was passed (1940) to strengthen the military services. A Lend Act (1941) authorized the President to sell, exchange, or lend materials to any country deemed necessary by him for the defense of the United States. Help was given to Britain by exchanging certain overage destroyers for the right to establish American bases in British territory in the Western Hemisphere. In August, 1940 President Roosevelt and Prime Minister Churchill met and issued the Atlantic Charter which proclaimed the kind of a world which should be established after the war. In December, 1941, Japan launched the unprovoked attack on the United States at Pearl Harbor. Immediately thereafter, Germany declared war on the United States.

1.One item occurring before 1937 that the author does not mention in his list of actions that alienated the American public was
  [A] the burning of the Reichstag.      [B] German plans for conquest.
  [C] Nazi barbarism.                 [D] the persecution of religious groups.

2.The Lend-Lease Act was designed to
  [A] help the British.              [B] strengthen the national defense of the United States.
  [C] promote the Atlantic Charter.    [D] avenge Pearl Harbor.

3.American Policy during the years 1935-1936 may be described as being
  [A] watchful.    [B] isolationist.     [C] peaceful.    [D] indifferent.

4.The Neutrality Act of 1939
  [A] permitted the selling of arms to belligerent nations.
  [B] antagonized Japan.
  [C] permitted the British to trade only with the Allies.
  [D] led to Lend-Lease Act.

5.We entered the war against Germany
  [A] because Germany declared war.
  [B] because Japan was an ally of Germany.
  [C] after Germany had signed the Nazi-soviet Pact.
  [D] after peaceful efforts had failed.

 Passage Two 


President Arling has put his long awaited economic restructuring program before the Congress. It provides a coordinated program of investment credits, research grants, education reforms, and tax changes designed to make American industry more competitive. This is necessary to reverse the economic slide into unemployment, lack of growth, and trade deficits that have plagued the economy for the past six years.


The most liberal wing of the President’s party has called for stronger and more direct action. They want an incomes policy to check inflation while federal financing helps rebuild industry behind a wall of protective tariffs.


The Republicans, however, decry even the modest, graduated tax increases in the President’s program. They want tax cuts and more open market. They say if federal money has to be injected into the economy, let it through defence spending.


Both these alternatives ignore the unique nature of the economic problem before us. It is not simply a matter of markets or financing. The new technology allows vastly increased production for those able to master it. But it also threatens those who fail to adopt it with permanent second-class citizenship in the world economy. If an industry cannot lever itself up to the leading stage of technological advances, then it will not be able to compete effectively. If it cannot do this, no amount of government protectionism or access to foreign markets can keep it profitable for long. Without the profits and experience of technological excellence to reinvest, that industry can only fall still further behind its foreign competitors.


So the crux is the technology and that is where the President’s program focused. The danger is not that a plan will not be passed, it is that the ideologues of right and left will distort the bill with amendments that will blur its focus on technology. The economic restructuring plan should be passed intact. If we fail to restructure our economy now, we may not get a second chance.

6.The focus of the President’s program is on
  [A] investment.   [B] economy.    [C] technology.    [D] tax.

7.What is the requirement of the most liberal wing of the Democratic-party?
  [A] They want a more direct action.
  [B] They want an incomes policy to check inflation.
  [C] They want to rebuild industry.
  [D] They want a wall of protective tariffs.

8.What is the editor’s attitude?
  [A] support.   [B] distaste.   [C] Disapproval.   [D] Compromise.

9.The danger to the plan lies in
  [A] the two parties’ objection.    [B] different idea of the two parties about the plan.
  [C] its passage.              [D] distortion.

10.The passage is
  [A] a review.   [B] a preface.   [C] a advertisement.   [D] an editorial.

  Passage Three


The Norwegian Government is doing its best to keep the oil industry under control. A new law limits exploration to an area south of the southern end of the long coastline; production limits have been laid down (though these have already been raised); and oil companies have not been allowed to employ more than a limited number of foreign workers. But the oil industry has a way of getting over such problems, and few people believe that the Government will be able to hold things back for long. As on Norwegian politician said last week: “We will soon be changed beyond all recognition.”


Ever since the war, the Government has been carrying out a programme of development in the area north of the Arctic Circle. During the past few years this programme has had a great deal of success: Tromso has been built up into a local capital with a university, a large hospital and a healthy industry. But the oil industry has already started to draw people south, and within a few years the whole northern policy could be in ruins.


The effects of the oil industry would not be limited to the north, however. With nearly 100 percent employment, everyone can see a situation developing in which the service industries and the tourist industry will lose more of their workers to the oil industry. Some smaller industries might even disappear altogether when it becomes cheaper to buy goods from abroad.


The real argument over oil is its threat to the Norwegian way of life. Farmers and fishermen do not make up most of the population, but they are an important part of it, because Norwegians see in them many of the qualities that they regard with pride as essentially Norwegian. And it is the farmers and the fishermen who are most critical of the oil industry because of the damage that it might cause to the countryside and to the sea.

11.The Norwegian Government would prefer the oil industry to
  [A] provide more jobs for foreign workers.
  [B] slow down the rate of its development.
  [C] sell the oil it is producing abroad.
  [D] develop more quickly than at present.

12.The Norwegian Government has tried to
  [A] encourage the oil companies to discover new oil sources.
  [B] prevent oil companies employing people from northern Norway.
  [C] help the oil companies solve many of their problems.
  [D] keep the oil industry to something near its present size.

13.According to the passage, the oil industry might lead northern Norway to
  [A] the development of industry.
  [B] a growth in population.
  [C] the failure of the development programme.
  [D] the development of new towns.

14.In the south, one effect to the development of the oil industry might be
  [A] a large reduction on unemployment.
  [B] a growth in the tourist industry.
  [C] a reduction in the number of existing industries.
  [D] the development of a number of service industries.

15.Norwegian farmers and fishermen have an important influence because
  [A] they form such a large part of Norwegian ideal.
  [B] their lives and values represent the Norwegian ideal.
  [C] their work is so useful to the rest of Norwegian society.
  [D] they regard oil as a threat to the Norwegian way of life.

Passage Four 


If you smoke and you still don’t believe that there’s a definite link between smoking and bronchial troubles, heart disease and lung cancer, then you are certainly deceiving yourself. No one will accuse you of hypocrisy. Let us just say that you are suffering from a bad case of wishful thinking. This needn’t make you too uncomfortable because you are in good company. Whenever the subject of smoking and health is raised, the governments of most countries hear no evil, see no evil and smell no evil. Admittedly, a few governments have taken timid measures. In Britain for instance, cigarette advertising has been banned on television. The conscience of the nation is appeased, while the population continues to puff its way to smoky, cancerous death.


You don’t have to look very far to find out why the official reactions to medical findings have been so lukewarm. The answer is simply money. Tobacco is a wonderful commodity to tax. It’s almost like a tax on our daily bread. In tax revenue alone, the government of Britain collects enough from smokers to pay for its entire educational facilities. So while the authorities point out ever so discreetly that smoking may, conceivable, be harmful, it doesn’t do to shout too loudly about it.


This is surely the most short-sighted policy you could imagine. While money is eagerly collected in vast sums with one hand, it is paid out in increasingly vaster sums with the other. Enormous amounts are spent on cancer research and on efforts to cure people suffering from the disease. Countless valuable lives are lost. In the long run, there is no doubt that everybody would be much better-off if smoking were banned altogether.


Of course, we are not ready for such a drastic action. But if the governments of the world were honestly concerned about the welfare of their peoples, you’d think they’d conduct aggressive anti-smoking campaigns. Far from it! The tobacco industry is allowed to spend staggering sums on advertising. Its advertising is as insidious as it is dishonest. We are never shown pictures of real smokers coughing up their lungs early in the morning. That would never do. The advertisement always depict virile, clean-shaven young men. They suggest it is manly to smoke, even positively healthy! Smoking is associated with the great open-air life, with beautiful girls, true love and togetherness. What utter nonsense!


For a start, governments could begin by banning all cigarette and tobacco advertising and should then conduct anti-smoking advertising campaigns of their own. Smoking should be banned in all public places like theatres, cinemas and restaurants. Great efforts should be made to inform young people especially of the dire consequences of taking up the habit. A horrific warning – say, a picture of a death’s head – should be included in every packet of cigarettes that is sold. As individuals, we are certainly weak, but if governments acted honestly and courageously, they could protect us from ourselves.

16.Why do a few governments take timid measures toward smoking?
  [A] because they are afraid of people.
  [B] Because diseases cost a lot.
  [C] Because they are afraid of the cutting down of their revenue.
  [D] Because they are afraid of manufacturers.

17.The tone of this passage is
  [A] critical.   [B] ironical.   [C] distaste.    [D] amusing.

18.What does the sentence “because you are in good company” mean?
  [A] you are backed by the government.
  [B] You are not alone.
  [C] You have good colleagues.
  [D] Governments are blind to evils of smoking too.

19.What is the best title of this passage?
  [A] World Governments should conduct serious campaigns against smoking.
  [B] World governments take timid measures against smoking.
  [C] smoking is the most important source of income to many countries.
  [D] tobacco industry spends a large sum of money on medical research.

20. The governments mentioned in the passage can be largely summarized as

  [A] weak   [B] cautious   [C] determinative    [D] hesitate

Passage Five 

    Police fired tear gas and arrested more than 5,000 passively resisting protesters Friday in an attempt to break up the largest antinuclear demonstration ever staged in the United States. More than 135,000 demonstrators confronted police on the construction site of a 1,000-megawatt nuclear power plant scheduled to provide power to most of southern New Hampshire. Organizers of the huge demonstration said, the protest was continuing despite the police actions. More demonstrators were arriving to keep up the pressure on state authorities to cancel the project. The demonstrator had charged that the project was unsafe in the densely populated area, would create thermal pollution in the bay, and had no acceptable means for disposing of its radioactive wasters. The demonstrations would go on until the jails and the courts were so overloaded that the state judicial system would collapse.

    Governor Stanforth Thumper insisted that there would be no reconsideration of the power project and no delay in its construction set for completion in three years. “This project will begin on time and the people of this state will begin to receive its benefits on schedule. Those who break the law in misguided attempts to sabotage the project will be dealt with according to the law,” he said. And police called in reinforcements from all over the state to handle the disturbances.

    The protests began before dawn Friday when several thousand demonstrators broke through police lines around the cordoned-off construction site. They carried placards that read “No Nukes is Good Nukes,” “Sunpower, Not Nuclear Power,” and “Stop Private Profits from Public Peril.” They defied police order to move from the area. Tear gas canisters fired by police failed to dislodge the protesters who had come prepared with their own gas masks or facecloths. Finally gas-masked and helmeted police charged into the crowd to drag off the demonstrators one by one. The protesters did not resist police, but refused to walk away under their own power. Those arrested would be charged with unlawful assembly, trespassing, and disturbing the peace.

21. What were the demonstrators protesting about?
[A] Private profits.                           [B] Nuclear Power Station.
[C] The project of nuclear power construction.     [D] Public peril.

22. Who had gas-masks?
[A] Everybody.    [B] A part of the protesters.
[C] Policemen.    [D] Both B and C.

23. Which of the following was NOT mentioned as a reason for the demonstration?
[A] Public transportation.     [B] Public peril.
[C] Pollution.              [D] Disposal of wastes.

24. With whom were the jails and courts overloaded?
[A] With prisoners.      [B] With arrested demonstrators.
[C] With criminals.      [D] With protesters.

25. What is the attitude of Governor Stanforth Thumper toward the power project and the demonstration?
[A] stubborn.     [B] insistent.     [C] insolvable.     [D] remissible.

Part Two. Vocabulary and Structure 
1. The teacher doesn’t permit _____ in class. 
  A)smoke 

B)to smoke

C)smoking

D)to have a smoke 

2. Anne couldn't concentrate _____ what she was doing while her family were watching TV. 
  A)to


B)on


C)for


D)in 

3. Mr. Smith advised us to withdraw _____ 
  A)so that to get not involved


B)so as to get not involved
  C)so as not to get involved



D)so that not to get involved 

4. I decided to go to the library as soon as I _____ 
  A)finish what I did 




B)finished what I did
  C)would finish what I was doing

D)finished what I was doing 

5. Jean did not have time to go to the concert last night because she was busy _____ for her examination. 
  A)to prepare   
B)to be prepared
C)preparing 
D)being preparing 

6. It _____ around nine o'clock when I drove back home because it was already dark. 
  A)had to be
 B)was to be

C)must have be 
D)must be 

7. There were some _____ flowers on the table. 
  A)artificial

 B)unnatural

 C)false



D)unreal 

8. He said he would go _____ the rain. 
  A)without


B)no matter how 

C)in spite of


D)even if

9. The rain was heavy and _____ the land was flooded. 
  A)consequently 
B)continuously

 C)constantly

D)consistently 

10.  There's little chance that mankind would _____ a nuclear war. 
  A)retain 


B)endure 

C)maintain


D)survive 

11.  Throughout his life, Henry Moore _____ an interest in encouraging art in the city of Leeds. 
  A)contained 

B)secured 

C)reserved

D)maintained 

12.  Many difficulties have _____ as a result of the change over to a new type of fuel. 
  A)risen


B)arisen

  C)raised


D)arrived 

13.  Though the long-term _____ cannot be predicted, the project has been proved by the committee. 
  A)affect


B)effort 

C)effect


D)afford

14.  She _____ a musician than her brother. 
  A)were more of
B)has been more of 
   C)is more of 

D)be more of 

15.  Many Europeans _____ the continent of Africa in the 19th century. 
  A)explore


B)were explored

 C)were exploring

D)explored 

16.  In those days Jerry _____ her mother in the hospital every day. 
  A)go to see

B)went to see 

 C)goes to see 

D)has gone to see 

17.  There _____ beautiful clothes displayed in the shop window. 
  A)is 



B)was



C)are




D)were 

18.  He _____ eggs and toast for breakfast tomorrow morning. 
  A)has 


B)have



C)will have



D)had 

19.  I think Red Team will win the final game; it’s very likely that _____. 
  A)they will

B)they can


C)they would 


D)they could 

20.  The car won't start because the battery _____.
  A)runs down

B)run down 

C)has run down 
D)have run down 

21. He was riding his bicycle too quickly along the busy street and had __________.

   A) a crash






B) a smash

   C) a fall






D) an accident

22. He gave his listeners a vivid __________ of his journey through Peru.

   A) account






B) communication

   C) tale






D) news

23. He was full of __________ for her bravery.

   A) energy






B) surprise

   C) admiration





D) pass

24. One of the questions is how to determine the __________ of the hill with the aid of a barometer.

   A) altitude






B) attitude

   C) gratitude





D) attribute

25. “I will take no orders from you”, he was shouting in __________.

   A) anger






B) hunger

   C) satisfaction





D) thirsty

26. Don’t eat anything that will spoil your __________ for dinner.

   A) taste






B) preparation

   C) favorite






D) appetite

27. China is a land with a(n) __________ of 9,600,000 square kilometers.

   A) space






B) distance

   C) territory





    D) area

28. The students’ __________ was to write a book report.

   A) signature





B) puzzle

   C) question





D) assignment

29. When Tom was doing his homework, he left __________ for all the words he did not know.

   A) emptiness





B) blocks

   C) blanks






D)position

30. He gave his __________ to the marriage.

   A) bolt






B) boy

   C) book






D) blessing

Part Three. Cloze 

A

Most people agree that fencing is one sport in which a person must be at least 30 years old before he learns all he needs to know about the sport.  1  Clark Summers of the University of Detroit  2  that this doesn't always have to be  3  . 
　　Clark is a different kind of fencer in a lot of  4  . He is American, while most fencers are from the  5  of Europe. He is black while most fencers in the past have been  6 . And he is  7  22 years old.
　　Many people  8  that Clark is the most promising fencer in this country today. Although he is young, he has been able to  9  the necessary skills. Already he has won a number of fencing contest  10 older fencers. He is almost  11  to become a member of the U. S. Olympic fencing team! 
　　"There is no  12  danger in fencing, today, Clark says. "But I never  13  that fencing was not always a sport. In the old days, People fenced to  14 a quarrel. Each match was a matter of  15  If that 16  true in the matches I  17  in today, every touch against me would mean that I  18  wounded or killed. So I try to play  19  l were fencing for my life. I don't like, the idea of being  20  ! " 
1.  A. And 　　     B. But 　　　　   C. Then 　　　　 D. So
2.  A. heard 　　     B. has thought 　　C. has shown　　　D. suggested
3.  A. true 　　      B. wrong 　　　　 C. clear 　　　　 D. Clever

4.  A. sense 　　     B. sports 　　　　 C. ways 　　　　 D. times
5.  A. countries 　    B. east 　　　　  C. west 　　　　  D. schools
6.  A. brave 　　     B. strong 　　　　C. white　　　　  D. young
7.  A. at least 　　    B. not 　　　　   C. already 　　　 D. only
8.  A. expect　　     B. think 　　　　  C. hope 　　　　 D. find
9.  A. study 　　    B. know　　　　   C. improve 　　　D. master
10. A. with 　　     B. over　　　　   C. against 　　　  D. instead of
11. A. ready 　　    B. able 　　　　   C. going 　　　　D. certain
12. A. large 　     　B. such 　　　　  C. real 　　　　  D. little
13. A. think 　　    B. agree　　　　   C. forget 　　　　 D. remember 
14.  A. make 　　    B. pick 　　　　   C. start 　　　　  D. settle
15.  A. joy and sorrow 　　　　　B. life and death　　
    C. success and failure 　　　　D .brightness and darkness
16.  A. should be 　   B. came　　　　   C. were 　　　　 D. is
17.  A. play　　      B. go 　　　　    C. work 　　　　  D. stay
18.  A. would get 　   B . were　　　　  C. was 　　　　   D. had been
19.  A. even if 　　    B. as 　　　　   C. if 　　　　     D. as if
20.  A. a fencer 　     B. a winner　　　 C. missed 　　　  D. killed 
B

The 1920s in Britain  1  a time of rapid social change. The revolution  2 dress, manners, and  3  was so great and its space so hectic,  4  this period is often called the “Roaring Twenties”.

Most of these  5  took place in cities. In 1921, 79 percent of the population lived in  6  areas, most of them in towns of 50,000 or more. During the inter-war years the population of England, Wales, and Scotland increased  7  42.7 million in 1921 to about 44.7 million in 1939, but the  8  of the increase was lowest  9  1801. In fact, until 1931 the population was actually  10 , mainly because of  11  to Common wealth countries like Australia. With this lower growth, the  12  of the population altered so that there were more older people than before. In all  13  groups, too, there were more females than males largely because of the  14  of men in two world wars.

However, if the population as a whole grew only slowly,  15  of the town s did not. London and other large cities  16  steadily into the countryside  17  them. On their edges  18  commuter suburbs from  19  people traveled long distances each day to work. Sometimes these suburbs contained subsidized council housing for lower income  20 .
1 A. were      B. be         C. is         D. are

2 A. on        B. in          C. at         D. to

3 A. moral     B. morale      C. morals     D. morally

4 A. but       B. that         C. or         D. so

5 A. changes   B. differences   C. sufferings   D. disorder

6 A. rural      B. urban       C. suburban    D. remote

7 A. by        B. over        C. from       D. up

8 A. speed     B. rate         C. rapidity     D. scale

9 A. in        B. up          C. since       D. to

10 A. minute    B. lowering     C. minimizing  D. decreasing

11 A. emigration B. immigration   C. invasion    D. intervention

12 A. consisting  B. composition  C. foundation  D. making

13 A. aged      B. aging       C. ages       D. age

14 A. loose     B. loss         C. lost        D. Loosing

15 A. which     B. this         C. that        D. those

16 A. spread       B. expanded       C. enlarged     D. restricted

17 A. in           B. among         C. around      D. with

18 A. appeared     B. stood          C. happened    D. marked

19 A. where       B. there           C. which       D. that

20 A. owners      B. holders         C. earners      D. winners

